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(1 − φB)xt = bt + wt
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xt = φxxt−1 + wx,t, |φx| < 1, � ��� (wx,t) = σ2
w,x
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yt = φyyt−1 + wy,t, |φy| < 1, � ��� (wy,t) = σ2
w,y
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fz(ν) = fx(ν) + fy(ν).
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yt = µt + st + vt
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µt = βµt−1 + wt
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st + st−1 + st−2 + st−3 = ut
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